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SIMPLE INTEREST 78
1 %100 =,5_()_)f.l_(.)_q><_lg- - 100
Pim *';,}"' 1000%6 10%

pricks: Go by choices

_ 1000 + 1000 31(%) =X 1050

. option (b) is correct
: Calculator Tricks:- GBC.
* For option (b

_10_s59%
2

For (b) A=. 1000 + 1000 x rate of interest of 6 months

. A= 1000 + 5% button (press) = 1050 (True)

Example- 4

mterest
Kapil recewed ? 1 ,01 5

(a) 70,000 4 (b) 60, 000
Solution: Tricks: . Go by Ch01ces

- For option (a)

= 70,000 +[6 X75]%
= 21,01,500 (True)

- Option (a) is correct.. -

0.1.Z 8, 000 becomes ¥ 10,000 in'two

years at simple interest. The amount

that will be¢ome ¥ 6,875 in 3 years at_

the same rate of interest is :

(@) T4850  (B) T5000
(0 T5500 (d) ¥5275

 [Nov. 2006] |

Kapil deposited some amount in a bank for 7 2 years at the rate of 6% p.a. s_lmple |

00 at the end of the term. Compute mltlal deposit of Kapil.
RORS 80, 000

(d) None

Solutlon Trlcks ;
10000 8000

(b) S.1/year > =X 1000
~1000x100 - -
S =12.5% .

7 7 8000 2

Amt  _ 6875
P= " AmtarT1. 1401253 ?5000

S (b)is correct.




74 " SIMPLE INTEREST

.2, The rate of simple: interest on a.
sum of money is 6% p.a. for first 3
years, 8% p.a. for the next five years
and 10% p.a. for the period beyond 8
years. Ifthesimple interest accrued by
the sum for a period for 10 years is ¥
1,560. The sumis: X

(@ T1,500° () 22,000
" () T3,000 (@ 5000
[Feb. 2007]

Solution : (b) is correct.

Single .1 For 1.yrs

= (6x3+8x5+10x2)% =78%

Tricks:

Total .
P~ o RA= 075120

- (b) is correct

Q.3. A sum of money doubles itself in
10years. The number of yearsit would
treble itself is : :

(a) 25 years (b) 15 years
(c) 20 years (d) None
: [Feb. 2007]
Solution : () is correct,
Tricks : 3
el
LI |
ol ]ié =%:_: on; t, =20 yrs.
(¢) is correct

Q4. A certain sum of money amnuntsl
t0.3 6,300 in two years and 7,875 in
three years pine months at simple

annum :

(@) 20% ®) 18%
(© 15% @ 10%
- [May 209

Solution : (a) is correct.
Tricks: ]
S.I. Per year =

Amount for 3.75 yrs — Ax:nou_ntfo;'zm
(3.75-2) yrs

=900 | _
P=6300-2 x900 =7 4500

o 00 -
4500x1 ! .

*| Q.5. A person borrows % 5,000 for 2
years at 4% p.a. simple interest. He

immediately lends to another person

1
at 62 % p:afor 2 years. Find his gain

in the transaction per year:

(@ %1250  (8) T125
(0).%225 (@) %167.50
R, [Nov. 2007
Solution : (a) %  Gain =
5%%—‘4;2.@5%

§.I for 2 yrs. = 5000x2.25% x 2 = T 225

S.1 per yr. = 5000x2.25% =¥ 112.50

2(a)is correct i
Q6. Two, equal sums of money were
lent at simple interest at 11% p.a. for

T I
35 years and 45 years 'respeétivfl!f-'-

interest. Find the rate of interest per-

Periods was ¥ 412,50, then each sum
is: e ; i

: S_ulufian' : (a) is correct

If the difference in interests for two :

F

+ : 1 SIMPLE INTEREST .7 5
@ T30 ) 3500 : :
(© 73,750 (d) T4350 (c) 9_5' %) l35
Feb. 2|
I i [ ; m} [Dec. 2008]
solution : (¢) Tricks : Difference in e
i[ﬂefeSt is due to time olution': (b) is correct
. rate of interest for the whole Tricks : 1= &=DX100
. rate : >
guration= (L1x4.5-11x3.5)=11% A
: : = =125y
“Total SI 41250 3

= P=Toterest on &1 011 - 3750

[c}_iS correct
0.7. In how much time would the
simple interest on a certain sum be
0.125 times the principal at 10% per
annuim (2l )

@ 1% years  (b) 1% years

(©) 2% years  (d) ZZ years

[June 2008]

Q:9. The time by which asum of money

is 8 times of itself if it double itself in

15 years. v

(@) 42years  (b) 43 years

(d) 46 years :
- [June 2009]

(c). 45 years

Solution : (c) is correct

It is Compound Interest Qt:s_
Tricks : 21 =g

or 2 =(2%) & t, =45yrs

Q.10. What is the rate of simple inter-
estif a sum of money amount T 2,784

-| in 4 years and 22,688 in 3 years ?
(a) 1% pa. (b) 4% p-a.
(¢) 5% pa. (d) 8% pa.
‘(June 2009].

% 0.10 :
prit
s 81 =—
Detail._ 100
. PADXE
« 0125B=——"—
OF T

ort= 0.125x10=125yrs

(a)is correct

Q.. Find the numbers of years in
which a sum doubles itself at the rate

,0f8% per annum.

il n 'L
(a) 11E {)1‘22

Solution : () is correct «
$.1. P2~ Difference in time

_§I, 2784-2688

_ Stk e [72%
T e

Principal = ¥ (2688-3x96) =2 2400

o ;x10|}=96x100=4%
pxt 24001




* Solution : (b) is correct

SIMPLE WRES,.T

1.6

Q.11 If a simple interest of L

money at6% p.a, for 7 years|
twice of simple interes
sum for 9 years at 5% p..

will be: ;
(@ 215 (b) T:15
(c) 15:7 (d) 1:7

[June 2011} | equ

Solution : (¢) is correct

Tricks:- GBC :
Q.12. By mistake a clerk, calculated

the simple interest on principal for 5
monthsat 6.5% p.a. instead of 6 months

at5.5% p.a. If the error in caleulation |

was ¥ 25.40. The original sum of prin-
cipal was p i i

(@) T60,690
(c) T90,660

(5) % 60,960
(d) 790,690

P=33 6254161
2900865, 3
100"12" 10012

_ _25.40%1200-

55%6-65x5  \ 00960
Q.13. If the Simple Interest op 71 40
on 3]

ifor 3 years is less than fhe ﬁln’l::alz
nterest on ¥ 1,300 for the Same period
by % 80, then the rate of interest g,
(a) 5.67% &) 667%
() 7.20% (d) 5.00%

' [Dec. 20117

jsequalto
t on another
The ratio

| (o) 13400

tion : (b) is correct.
80x100

Tricks : " (1800-1400)x3

~6.67%

f | Solu

'Q.14.The S.1.ona sum of moneyj; 4
of the principal and the No. "fyeﬂrs?;
al to the rate of interest per ,
qum. Find the rate of interest pey.,

num? :
(a) 5% (b 20/3%
©21% (6%

i i f-fmza:z,n
Solllﬁon_:(b) g G
S Te At NN
sutgmtnenl)

SIS
TR Rt

Q.15; Simple interest or 22,000 for 5
months at 16% p.a.is____ :
(@) 13333 (b) T133.26 .

(@) 713209
[June 2012, Dec. 2012
Solution : (4) L

8.L= 2000x3.% 16 _ 51203
B "TX]Q.XIDO. -3133.3?1-_

g:ired to yield an Annual income of
4202t 7% p.a, Simple interest,

(a)_ 6,000 (b) T 6420
@558 (@) 25000
£ [De&?ﬂu)f

.Slollntion.= {;z Pe 420%100 It
) ‘"'TxT‘ =7 6000

Q.16. How much in‘vestme'nt'. is re- -

. Caleul
| =420+ 7% button = T 6000

SIMPLE INTEREST

ator Tricks Il GBC :

.17, Mr. X invests € 90,500 in post
gt:ﬂce at 7.5% p.a. simple interest.
wWhile calculating the ratewas wrongly

" {aken as 5.7% p.a. The difference: in

ounts at maturity is T 9,774. Find

am g
the period for which the sum was
inv‘oﬁted. 4 ;
(a) Fyém_ (b) 5.8 years -
() 6years  (d) 8years
' [Dec. 2012]

" Solution: (@) Tricks

oTMXI0 -
t= 50,500x(7.5-5.7) S

Q.ls. If the.sum of money when com-
pounded annually become I1140 in

2 years.and T1710 in 3 years at rate of

interest AET
(@) 30% ®) 4%
@%@ 6%
b  [June 2013]°

. Solution : (c) Interestin 3rd

yr =% 1710 - 1140

Lm0 L e
';‘lileks Note : For 31d yr ; it will be like
g ey
TricksTI Go by choices.

~ For()A=1140 + 50% (Calculator)

=X1710..

2. (c) is correct

Th)

Q.19. Inwhat time will a sum of money

double itself at 6.25% p.a. at simple

interest
(a) 5yrs
(c) 12yrs

(b) 8 year
“(d) 16 yrs
- [Dec. 2013]
Sol_utiun : (d) iscorrect. -
Tricks : 3
_ (2-1)x100
65
Q.20. What principal will amount to
370 in 6 years at 8% p.a. at simple
interest

=16 years

(a) 3210 (&) T250°
| (o) B0 () T350°
A [Dec. 2013]

Solution : (b) is correct

DA R
_ Tricks : P e gpg = 20
Calculator Tricks :- GBC

(b) Amt =250+ (6 x 8)% button'press =
370 :

'Q.21. If a sum triples in 15 yrs at

Simple rate of interest then the rate of
interest per annum will be ;

(@) 13.0% (®) 13.3%
(©) 13.5% (d) 18%
[June 2014}

Solution : (b) is correct
(3-1)x100
- 1x15
Calculatoi- Tricks :- GBC .
(b) r=15 x 13.333% =200%
A =1+200% (button) =3

Tricks r = =13.3%

~(b)is correct
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Q.22. A certain sum of money “f'B:
invested at simple rate of interest .?/
three years. If it was invested at 78;
higher, the interest have been 78

more, then sum has been invested at |

that rate was
(@ 12,600 () 76,800
(c) T4,200 (@) 32,800
[Dec. 2014
- Solution : (¢) is ;orrect
. 81=3882 forr=7%.

t=3 years.
p=1x100 _882x100 _5 4nn0
rt Tx3
. Caleulator Tricks :- GBC

* Q.23. A sum of money will be doubled
itself in 8 years at S,I. In how many
* years the sum will be tripled igdf T

(@) 20 years (b) 12 years
() 16 years (d) chle:
[Ju_rw'—JOI.‘F]

Solution : (c) is correct,

L e N Yo (e B
Tnl:ks.. 327
ty =16 yrs,

Q.24. A sum of 44,000 is divided into |

3 parts such that the corresp

3 onding.
interest earned after 2 years,

» 3 years

"and 6 years may be equal at the rate of
simple interest are 6, Pa.8% pa, &

6% p.a., respectively. Then the s
est part of the sum wil] be, 81lll&||-
(®) T8,000
(d) % 12,000

" (@) T4,000
- (e) % 10,000

SIMPLE FN-TEREST

Solution : (b) is correct.

So, Smallest principal

i 44000
T 6+3+2°

becomes 4 times itself a

| simple interest:

@ 20
@25

Solution : (c) is correct *

Tl'lt‘,:ks: = 1x12 7

X35%
=32400

[June 20157

80, (a) is correct,

Q.25. No. of years a sum of

(4-1)x100 2
e s,

—
|
.

x2=38000

£12% g

B2t ]
@ 30 _
[ec. 295

;

Q:26.1f a person lends ¥ 6,000 for |
yearsand¥ 8,000 for3 years at .1, Th, |
total interest earned is T 2400 thenh; | -

| rate of intérest is.....,”
@-5% ) 6%
Rt e @ e ]
ks ec. 201 |
_Sqlution:(a).is correct, |
Tricks: Go by choices. |
For (g) ; I

Total ST'= 6000459 + 80003 |

mnnq g

SIMPLE INTEREST

Q.27 In simple interest, a certain sum

| ' pecomes T 97,920 in 3 years, and

% 1,15,200 in 5 years, then the rate of
jnterestis:

) 11.2% -

(a) 10%
(o) 12% (@) 13.6%
g [June 2018
‘Solution : (¢)
Tricks :
Q] pla.= 115:200-97.920
. T e
=T8640

*  Principal = 97,920 - 3 yrs intefest =

- 97,920-3 x 8640=372,000 ..

- 8640100 N
P 10,

72000 0
Calculator Tricks': ‘
Amounts = 72000 + (12x3 = 36) %
button =% 97,920 (True)

‘So, option (C) is correct.

" 7'Q.28. A person borrows ¥ 5,000 for

2 years at 4% per annual simple

_ interest. He immediately lends to

Hi 1 i
another person at 5;% . Per annual

for 2 years find his gain in the trans-
action .

(@) T 11-2.50_ _ '(b) 225,
(€) ¥125 - (d) T107.50
R : {May 2018] |-
Solution :.(b) :
; LR
Interest Gain = 61—4} ‘
/
TR
=2-=225%
4 :

79

So, Interest Gain
_ S00x2x225
100 = T 225.

Q.29. A certain money doubles itselfin
10 years when deposited on simple
interest. It would triple itself in

(a) 30 years (b) 20 years
(€) 25 years (d) 15 years
; [Nov. 2018]

éo]ution : (B)

Tricks : See Simple Tnterest (Quicker.
BMLRS)

i El:Jé—l
L =1
t, :3—1 '
—“=——=¢ =20yrs.
BT o et

IQJD. A certain sum of m.uney Q was
deposited for 5 year and 4 months at
4.5% simple interest and amounted to

248, then the value of Q is
(@) T240 (B) T200
(©) 220, @ %210
~ [Nov. 2018]

Solution : (5)

4 16
t=5yrs 4 months = S+—=—yrs

123

b [

ke T
malddr s i1g
248=Q| 1+ = x—=
or_..s.. Q[ 100° 3]
J Q=-—_248><3DD=R3.200

R T




. 8o, (b) is correct.

T
SIMPLE INTERES

7.0

Tricks : GBC

Rates for § yrs 4 Months = Sx
one third of 4.5% = 24%
Note: 4 months meansone third ofqlle
vear; so rate for4 months = oné thir
;uf one year interest rate.

(b) Amounts = 200 +24%= 248 ('[T'ne)

4.5 %t

Q.31. The certain sum of money be-
came ¥ 692 in 2 yrs. and ¥ 800in 5 yT-
then the principle amount is

(a) 520

(b) T620
(e) T720 (d) T820
[June 2019]
Solution : (b)

Tricks:- If a certain sum of money bex
comes A, in t, years and A, in t, years
then i

A: _AI
S‘I.pera,nnulm= YT
. 800—
s SL pa= 00002
) 5-2
=T 36.

: Princigal =A - Interest
= 692 - Interest of 2 yrs,
= 6_92 -2 36 =%620.
(b) is correct,
Q.32. A sum of money amount to ¥

6,200 in 2 years and % 7,400 in 3 years
as per S.I. then the principal is

(a) ¥3,000 (b) 3,500
(¢) T3,800 (d) None

don:e) " .
Sole . 7400- 6200
joks!-S:1.PA= " 3-2

M 00,
. principal — 6200 2x1200
o PAnePe = 2’300,

R=15%: T= 4l
Q. F=CSIONR = (5%:T= 45

PIR ill be 1= P
using 1= 00 then I will be I N

@ 73375 () ¥3,300
© 375  (d) None

. [June 2019,
Solution : (@) R
1= 5000%15%4.5 _ 3375
1O o e :
[Use Calculator ; Never Write] .
Q.34. In simple interest if the princi.
pal is T 2,000 and the rate and time

are the roots-of the equation x*- 11x.
30 =0 then simple interest is

o 2~ 5x—6x+30=0

or x(x-5)-6(x~5)=0

or (1f5) (x—_.6_j= 0

D H

Ifrs;%them:ﬁy,s_

ns1=Prt _ 2000x5x6
O I R

U= R600,

(8) is correct,

 LJune 2019)

@500, *.(5) 1600
@ RI00 () X800
e [June 2019) E
* | Solution : (b) - i )
v -11x430=0

SIMPLE INTEREST

5 Irlhelnterestofu money is equal
S by nine, the rate of interest

e
10 ::’;;:::e are equal then find rate of
an
{nterest is.
e 15 (b) 4%%
3
© 3% (d) 3.5%
' [Dec. 2019}
séluﬁnn : (a)
Let Principal = ¥ 1
1
ql= 9 ;
Given;r=t
Binit
SI= _100
L LE
o 5 =100
100 10 1
——=r=— =3—-%
or; I 0 A 3 3

Q.36.1/7of amoney is deposited at4%
per annum, 1/2 of a money deposited
at 5% per annum and the remaining
at the rate of 6%, then total interest
gained T 730 find deposit amount is

(@) T 14000 (b) 3215500 -
. (c) T212800  (d) % 214500
[Dec. 2019)

Solution : (a)
Calculator Tricks : GBC
For (a) S.I.=

]

i ¢
[?XIWDO:Z{]()U x4% button  i.e.

type 2000 then ‘press multiply button
thentype4 then percentage button [never

- Pressany other button]

7.11

then lzxt-mﬂ(}:-TfCtOO 5% button Le

type 7000 then press multiply button
then type 5 then percentage button and
(14000—2000—7000)x6% button . €.
type 5000 then press multiply button
then type 6 then percentage button
then Press GT button ; we get T 730.
». (a) is correct.
Q.37.Ramdeposited? 12000ina baﬁnk
at 10% per annum and remaining
amount deposit in other bank at 20%
per annum, if he received interest ac-
cording to 14% per annum find the
Ram's amount.
(a) 20000
(¢) T30000

(b) T 22000

(d) T25000 -
[Dec. 2019]

Solution : (a)

Tricks : GBC

For (a) S.I on 20,000

£20,000x14%

=22800.

S.I onZ 12,000 = 12000 x 10%

=3 1200. X

Rest principal = 20000 - 12000

= 8000.

S.1. on rest money = 8000x 20%

= 1600.

Sum of these S.1.

= 1200 + 1600 = 2800 (True)

= (a) is correct.
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Q.38. If the difference between h;e:
est recelved by twopersons A andBo

the same sum of 71500 for 3 yearsis
18. Then what is the difference be-
tween the two rates of interest:

(@) 1% (&) 25%
(©) 3% " (d) 04%

[Dec. 2919]
Solution : (d)

Principal same ; time same but interest
differ by T 18.
It means rate differs.
_Ix100
3 pxr
Here ; r = difference between rates.
_ 18x100
" 1500%3
Detail : Let their rates are r. andr,

1500x7-3_1500x7; 3
"100

100 -

”mﬁn’“(r )=18 |

dinis b
TR

Q.39. If the compound interest on a
certain sum for 2 Yearsat3% p.a. is 3
1015, What would be the > simple inter-

=0.4%

=18 ;

or ==

est on the sum at the same rate and

same time is

(@ 1005 - @) 100, .
(©) 1000 (@ 1003
Solution : (c) !Dec. o

For (¢) S for 2 yrs.
=31000. .
-, 8 for Lyr. =¥ 300- e (1ogg,,

C.] for 2nd yr. —S I for Ist yr+ lmﬂ
ont_hjsSI
M-=RS-515_
100 -
-+ Total CI=500+515= ?IOIS[True]
Calcu]ator Tncks for ClI

=500+

C1.= 500+ (500+ 5% button)

=T1015 (True)
Qdﬂ What sum of money will p pro.
duce ¥ 42,800 as an interest in 3 Year, -
and 3 months at 2. 5% p.a slmp]e
interest-?

(@) X 3,_7-8,000
(c) ?4‘,22,0(}!)

(B) T5,26,769
(@) % 2,24,000
[Dec. 2028,1
Solution : Ilme r 3 yea.rs & 3 manths
=7+ = 13 =325 years .
Fumul§ .
1X100°
WXy

_ 42,800%100
(3 25) X (2. 5)
=%526,769.23 =7 5,26 769/~
(B) is correct.,

Calculator Tricks

. P =42,800 +'.2_5% bUttGl'l - (3‘25}

P_-.

C=T526,769

C. o styr. = STof Istyr. <z 5, |

|
|
|
|

I

SIMPLE INTEREST

Q4l. Acertainsum amounted to ¥ 575
at 5% in 2 time in- which T 750
amounted to T840 at4%. If the rate of
interest is simple, find the sum—
(@ 525 () 550
© 515 . (@) 500
{ [Jan. 2021}

" Solution: (d) iscorrectS.1,.=A—P=840

_750=390

leUO 90)<100
- ————~ 3 years
- pI.

Then use GBC (Go by choices) with
calcu.lator

[ | year interest rate =5% :
». 3 years interest rate = 3 x 5=15%]
(@) A =525+ (3 X 5)% = 60375575
(a) wrong

Amount ¥ 603.75 is more than 575 -

So, principal must be less than % 525.
For Ubl.ion (c): .
A = 515+ (3 x 5)%=592.25 £ 575
So upﬁon @ .
= 500 +15% =575 {True)
(d) is cqrrect

Q.42. A man invested_ one-third of his
capitalat7% one fourth at 8% and the
remainder at 10%. If the annual in-
come is T 561. The capital is -

(a) T4400 () ¥5,500
(c) X6,600 -~ . (d) 25800
. [an. 2021

Solution : (c-) is correct

TH R
Tricks
Remainder
_:_l_l 12-4-3 5
3 4 12012

Single rate of interest
jrld W 5
=|TX=+8x—+10x—|%
( X 3 8x 2 X l2)
[Do by using calculator]

= 8.5%
Annual income=Annual interest=% 561

| Capital = Interest = rate of interest

561 = 8.5% (button)
T 6600

.. (¢) is correct

Q.43. Certain sum amounts to ¥ 15748
in 3 years at simple interest at r% p.a.
The same sum amounts to ¥ 16,510 at
(r+2)% p.a.simpleinterestin thesame
time. What is the value of r?

(@) 10% (b) 8%
© 12% " (d) 6%
[Tuly 2021]

Solution : (b) is correct
Due to increase in interest by 2% in
3'years
Interest increase
=16510— 15748
=3762
1x100 _762x100
.t 2x3
Then apply tricks GBC

(@) A =12700+ (3 x 10% =30%) button
#15748

So,P =

=T 12,700




' SIMPLE
7.14
- So (a) Wrong :
(b) A=12700+(3 % 8% = 24%) button
=7 15748 (True) i :
So (b).comrect

Q.44. Two equal amounts of mo ;
are deposited in two panks each nk
15% p.a. S.I. fix 3.5 year In the ban

 and fix 5 years respectively. The dif-|

ference between the intere:st amounl_
from the bank is ¥ 144. Find the sum

(a) 620 (b) T640 Tricks . -
() T820 (d) T840 gz | A cerain sam of money becomes
; [Jan. 2‘ )’ timesint, years and xltlrm_’:s int, yea[-s;ai :
Solution : (b) is-correct same rate of 8.1 The relationship i
Let Each deposit =P. el
Tricks . gl
i in X e

Rate of interest for:3.5 years : _7155__1 =1,=7 %2 =14 years,

= 35x15=52.5% paS.L.
. Rateofinterest for Syears =5 X 15=75%
| © pasSlL ! PE

" Difference in rate of fnterest

= 75-525%=22.5%paS..

* P=Interest difference +Rate of inter-
est difference 2
= 144 +22.5% (button) =% 640,

Detail each
Let Principal money = p
From Question
P. ;
mis s,

P
o oo [75-525)=144

ney

WT
144x100 _7 640

(b)is correct

orP=

itselfin 7 years. -
e:i::::i:lesi:tf:]ﬁ to tj:_'iple 123]‘;31
.y(a) End of 12 years
1) E'nd_of: 14 years
© “End of 18 years
'(4] End of 16 years
Solution : (5)

ally

[Dec, 29, I
R

Q.46. Simple interest on a sum of
money is amount to 59,000 in 3 yeay, |

amount and rate of interest?
(a) T50,000,6%
(b) T45,000,5.5%
(c) 55,000, 5%

| q.45. Asum of money in simple |

| and 62,000 in 4 years at same rateof |
interest. What are the principal

i

* SIMPLE INTEREST

o

(c) 5% - (@ 6%

S [Dec. 2021]
Solution : (a) ' u
Let Principal =P

Aol
= _P
Interest= :
_.--leUO :
srate=—p
L px 1062
RS PR

o RP=25 > R=5%

- Q.48. An investor is saving to bay off

an-obligation of ¥ 15,250 which will be
due in seven years, if the investor is
earning 7.5% simple interest rate per

. annum, he must deposit T ~_to

meet the obligation.

(d) ¥52,000,7% [Dec.202y | (@ 8,000 (b) 9,000
Solution : () . (c) 10,000 (d) 11,000
Tricks ) ; . [June 2022]
62000 —59000 « . Solution : FV =%.15,250

o P-a K 42 =% 3,000~ SIrate for 1 yr=17.5 :
A yr=15%

Principal : ST s 7 %75

P=59000 -3 x ST pa =550
= 39000-3 x 3000 = 50,000/~ ‘

T
Rate of Interest - Tricks
1x100 _ 30[]0><1_00 A - .15250
..'=r= fef _50,000){1_ PV=P=1+L=1+5_2_-5
ey sy 100 100
S o e S 15250
Q4T An an_mpmt is leqt at R% simple | = 1525
interest: for R years and the simple :
interest amount was one fourth of the | = % 10,000
prlncipal amount. Then it is| . (c) is correct

Q.49. The annual rate of simple inter-
est is 12.5%. In how many years does
the principal double? é
(@) 11 years AR (b) 9 years
(c) 8years ~  (d) 7years
: . [June 2022}
Solution : Tricks ’
t':-gm—1!100. g
e
(2-1)x100
13_ 5 8y
Calculator Tricks
(2-1) + 12.5% button = 8 yrs
(c) is correct. : 3
Q.50.Afarmerborrowed3 3600 at the
rateof15% simpleinterest per Annum.
At the end of 4 years. He cleared this
account by paying T 4000 and a cow.

The cost of the cow is : ]
(@) 1000 (b) X 1200 .
(c) T1550- (d) T 1760

: ; [Dec. 2022]
Solution: Given : :
Let P = Principle = ¥ 3600
. r=rate of interest = 15%
't=time = 4 years




7.16

Simple Interest

Y gDt _3600x15x4
oo 100

=% 2160

Total amount payable aftér 4 years
=3600 + 2160 =% 5760 %
Which is equal to% 4000 + cost of 1 coW
- Cost of 1 cow = 5760 — 4000,
—T1760 5

(d) is correct.
Q.51. Mr. Ram invested a total of £4

1,00,000 in two different banks.for 2.

fixed period. The first pank yields an
interest of 9% per annum and second,

" 11% per annum. If the total interest

" at the end of one year is 9.75% per
annum, then the amount invested in
. these banks are respectively:

(@ X 52,_500,’ % 47,500

~ (b) T62,500,%37,500
(c) T57,500,% 42,500 -
(d) T67,500,T32,500.

SIMPLE INTEREST

Solution

Trick-] :
[nvestment ratio =
¢ [ I

e T
N/
9.75
135 : o}75
125 ;75 +25
; | 5 %3
.'.,Ir'ivestrneﬁt‘in st bank

| _ 100,000 s _ 62,500

5+3

1,00,000

in 21"1d bankF =503 x 3 =37,500

(b) is correct. o

| Trick-I1I

GBC - " :

| Total interest = 1,00,000 X 9.75% .

- | 2 RT50
() Total Interest (by Calculator) -
el eaa e
37,500 11% = (GT button) -
Press =% 9,750.(True)

(b) is correct.




